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Using Circle Graphs

Heather is making jigsaw puzzles.
She spent $18 on the materials.
This graph shows how much she
spent on each type of material.

How much more does the balsa wood cost than the paper?

% Understand What do you need to know? You need to know the cost of
the balsa wood and the cost of the paper.

% Plan How can you solve the problem?
Use the fractions in the circle graph to find the cost of each
item. Subtract to find the difference between the costs.

% Solve « The balsa wood cost 7 of the $18.00.
So, the balsa wood cost $9.
o The paper cost% of the $18.00.
So, the paper cost $6.
«$9 — $6 = $3
The balsa wood cost $3 more than the paper.

% Look Back If there were no fractions shown on the graph, how could
you tell which item cost the most?

Solve.
1. How much did Heather spend on paste?

2. Which two items used up % of Heather’s money?
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